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CHAPTER 3
A TRIP TO BHOPAL

Ques.1 Fill in the blanks:-

TRt T |
1.1000 = 10 ==
2.713 X 5 == 5 X
3.76009 == kg + g.
4.4 L == ml
5.0.7km== km m

Ques.2 Change to 12 hours clock time using am or pm.
Am LT Pm 3T T I gU 2R S aTelt el § 5o |

1. 1238 hours / &< 2. 0520 hours / &<
3. 1201 hours / 8 4. 0045 hours / 8¢
5. 1200 hours / ©<

Ques.3 Find:-
& I |
1. 100+20-5%x2+60+2
2. 15x5-12x6+4
3. 19x5-18x12+5
4, 48+72+9x3-5x7+4
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Ques.4 Divide the greatest no. of four digits by 95.
% J7ehl ! Had TE] YA Hl Q4 T 9T 7 |

Ques.5 8m cloth cost Rs. 176. What will be 5 meter cloth cost?
8 HIeY TS I T Q9& TIT ¢ Al TIATST Y T hUS ki ShiTd =T eidl ?

Ques.6 A car run Rs 25 km on 15 L of petrol. How many km. can it run on
10 L of petrol? ‘ ’
T R QY TR YA T Y, TheAiHIe Tetdl & Lo Tiie U2iel | a8 R

o o [ a
Toha ThelTHIE Tt ?

Ques.7 The rent of a house for a year is Rs. 2400 find the rent for 3 months?
Teh R T Ueh WTeA Sl TR ¥ 00%Td & A 371 T HelH o [ feha

2 2

Ques.8 How many 10 rupees notes ravi can get for Rs. 41607

¥2&0 H T &l 20 TIT & o A1 oAt ?
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Ques.9 Richa bought bread for Rs. 5.75, butter for Rs. 4.50 and biscuit for
Rs. 4.75. How much money did she spend?

R = w9y TIF 31T, ¥.4o T TRGH T ¥.\9Y I foehe BRITT | 39
et Tohe o0 T Ty ?

Ques.10 Write the time that.
U A3 |
(i) 10 min. earlier then 9:30.
R:30 ¥ 0 fiFe TReH |

(i) 10 min. later than 4:45.
¥:¥4 T 2o e 91 |

(ili) Y h. earlier than 10:45.
R01% Y T STHT Tl Ueet |

Ques.11 A ration dealer distributed 945 liter kerosene equally to 27
persons. How much oil did each person get? '
Teh TP SIol R ¥ T THES! T T [\ AT hl sTeR StedT 8] Ui

3TTEH] Rl {heT oot et 2

Downloaded from www.studiestoday.com



Downloaded from www.studiestoday.com

Ques.12 There are 144 ball pens in a carton. How many ball pens are there
in 85 cartons?

T ¢ Siss H Q%Y o7 U &1 df ¢4y, IS Tesal H fohea= U 2 2

Ques.13 Convert the time in 12 hours:

2R T ol Tel H U Fqre |

(i) 2315 hours
3y EE

(i) 1709 hours
0% T

Ques.14 A gas cylinder contains 14 3 kg of gas 9 3 is used. How much of
5 5
Gas is left in the cylinder?

Teh T foleTet H 2% 3/4 fohetony 719 ¢ IS 399 | R 3/, fohalium™ v
&l T2 o Taferex § fora 719 arent =t 2

Ques.15 The population of a town is 96,954. How much is less than one
lakh?

TS I ol Fol STHUEAT ]&,]UY & Al TE Teh oG ¥ fehe1 7 & ?
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ANSWERS
AT

Ans.1
100

713

7 kg 600 g / \o Tohedt &oo 7T
4000 ml / ¥ooo T

0 kg 700 m / o fehHt \oo Tt

ARSI

Ans.2

12.3p.m
520 A.m
12.01 P.m
12.45A.m
12.00 Noon

Ok whE

Ans.3

0
-5
41
41

e

Ans.4 105 Remainder- 24 / 204 3% -3%
Ans.5 Rs. 110 / %0 93

Ans.6 150 km / 2uo feret

Ans.7 Rs. 600 / &oo Ta&

Ans.8 416

Ans.9 Rs. 15/ 24 &0
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Ans.10
1. 9:20
2. 4:55
3. 10:15

Ans.11 35 liter / 34 T

Ans.12 12,240 ball pens / 2R, R¥o TTeT U

Ans.13
1. 11:15 pm
2. 5:09 pm

Ans.14 53
5

Ans.15 3046
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